GLOBAL OLYMPIC CENTER KATEQORIYA llI Sizd UGURLAR ARZU EDIRIK!

1) Find last number / Haiiaute nocaeanee uncao / Sonuncu adadi tapimn:
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A) 30 B)40  C)58  D)60

2) Solve / Pemure / Hoall edin:
2023 - 223 + 2022 - 222 - 2200 =7
A) 1400 B) 1040 C) 2023 D) 2002

3) Find sum of: / Haitante cymmy: / Comini tapin:
5+ 10 + 15 + 20 + ... + 105 =7
A) 1150 B) 1155 C) 1551 D) 2023

4) Find the next: / Haitaute caeayiomee uncao: / Novbeti adadi tapin:
3,9,27,81,243, (_)
A) 486 B) 512 C) 729 D) 792

5) Find missing number. / Haitaute HegocTatomee uncao. / Catismayan adadi
tapin:

+ 4 X546 =31
A) 10 B)yl2 C)16 D)20




6) In a market, apples have one price and oranges have another price. Two
kilograms apples and three kilograms oranges cost 78 cents. However, three
kilograms apples and two kilograms oranges cost 72 cents. How much does one-
kilogram apple cost?

Ha prinke s1010K1 MMEIOT OAHY LIeHY, a alleAbCUHBL — APYTIYIO. /Ba KuAorpamma
s010K U TpU KMAOTpaMMa arleAbCYHOB CTOAT 78 11eHToB. OAHaKO TpU
K1aorpaMma s1040K 1 ABa KuAorpaMMa alleAbCUHOB CTOAT 72 1eHTa. CKOABKO

CTOUT KMAOTIpaMM s0A0K?

Bazarda alma ve portagal miixtslif giymatlore
satilir. Iki kilogram alma va 3 kilogqram portagal 78
sentdir. Lakin 3 kilogram alma va 2 kilogqram

portagal 72 sentdir. Almanin 1 kilogrami negayo

satilir?
A) 10 cents/ meHTOB B) 11 cents / 11eHTOB
C) 12 cents/ 1ienTOB D) 13 cents / 11enTOB

7) Solve: / Pemure: / Hall edin:
(39 X 40 X 44 x 48 x 42) + (20 X 22 X 24 X 26)

A)1  B)120 C) 405 D) 504

8) Find the value of /Hariaure snauenne y = ? /y = -in qiymotini tapin:

A6  B)1 C)2 D)3




9) Suppose today is Friday. What day of the week will be after 153 days?
AomnyctuM, ceroans rnsATHuIla. Kakoi aeHs Hegean Oyaet yepes 153 ansa?

Farz edak ki, bu giin ctime giintidiir. 153 giinden sonra haftanin hansi giinii
olacaqdir?

A) Thursday \ Ciime axsami1\ Yetsepr

B) Wednesday \ Carsanba\ Cpega

C) Friday \ Ciima\ ITaTHNuma

D) Sunday\ Senbe\ Cy660Ta

10) Find the area of this figure, in cm?. / Haitaure naormiaap 9Toit Ppurypst

B cM?. Asagidaki fiqurun sm2-da sahasini 5 €m
hesablayin. 4 cm
A) 80 B) 60 C) 40 D) 20 8cm
10cm

11) Find next pattern / Haitaute caeayroree: / Novbati adadi tapin:
9,16,23,30,37,44,?
A) 49 B) 51 C) 52 D) 55

12) How many circles in the next pattern? / CkoabKo Kpyros B caeayioIieM

y3ope? / Asagidaki fiqurda nega dairs vardir?

A) 30 B) 35 C)39  D)43




13) Mika earns £350 per week. How much does he earn every day?

Mruka 3apaOatbiBaeT £350 B Hegea10. CKOABKO OH 3apadaTbiBaeT KayK bl
A€Hb?

Mika haftads 350£ qazanir. O, har giin no gadar qazanir?

A)50 B) 70 C)120 D) 1500

14) A bus travels 90 kilometers in 3 hours. How far does it travel every
hour?
ApToOYyC mpoes>kaer 90 kM 3a 3 yaca. Kakoe paccTosiH1e OH IIPOXOAUT
Ka>KAbIl yac?
Avtobus 3 saat arzinds 90 km yol gedir. Avtobus har bir saatda na qoadar

mosafa got edir?

A) 10km /xm  B) 20km / xm C) 30km/ xm D) 60km/ km

15) In a year, Kerri spends £240 on art supplies. How much does she spend
per month?

B roa Keppm tpatnt £240 Ha TOBaphI 444 TBOp4YecTBa. CKOABKO OHa TPaTUT B
MEeCSIIT?

Bir ilds yaradiciliq ti¢lin mallara Kerri 240£ sorf edir. O, bir ayda ne gader
xoarclayir?

A) £8 B) £12 C) £20 D) £24




16) Dan eats 3 sweets a day. How many sweets does he eat every week?

A»H ecT 3 KOH)eTH B AeHb. CKOABKO €Aa40CTel OH ChedaeT KaKAYIO
HeaeAm?

Den gilindoe 3 konfet yeyir. Hor hafts o, ns qodar sirniyyat yeyir?

A) 15 B) 21 C) 42 D) 90

17) A plane travels 300 km in 30 minutes. How far does it travel in an
hour?

Camoazer nnpoaerea 300 km 3a 30 MuHyT. Kakoe paccTosiHre OH IPOXOAUT 3a
qac?

Toyyara 30 daqige orzindas 300 km u¢gmusdur. 1 saat arzinds o, na gqodar

mosafa got edir?
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A) 600km/ xm B) 150km/ xm C) 100km/ xm D) 555km/ xm

18) Find missing number. / Hariaute HegocTaomiee uncao. / Catismayan
adadi tapimn: 97,83,69,? ,41,27

A) 59 B) 56 C)55  D)49




19) Solve: / Perrture: / Hoall edin:
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A)50 B)64 )22 D)42

20) Find: / Haiiaure: / Hesablayin:
vVt *v =9

e g tg =13
i 4+ 4 4 ' = 292

A) 62 B)56 C)52 D)2l

21) Find the last one. / Haitaure mocaeannit / Sonuncu giymaeti tapimn:

B+B+9=36
wtw+e= 57
Q+9+9=9
Q+@+’®+-h- =?
A) 24 B)34 ()45 D)53




22) Sally earns $80 every day. How much does Sally earn per 6-day week?

Caaamu 3apadatbiBaeT 80 4044apoB KaKAbl AeHb. CkoAbKO Caaan
3apabarbiBaeT 3a 6-4HEeBHYIO HeaeAl0?

Salli har gtin 80 dollar qazanir. Salli 6-gtinliik haftads na gedar qazanir?

A) $480 B) $420 C) $360 D) $140

23) Solve: /Pemmure: / Hall edin:
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L5 1—A4

A) 44 B)52 C)63  D)66

24) Jen rides her bike for 2 hours & 40 minutes. She starts at 13:30.
What time does she finish?

A>xeH KaTaeTcs Ha Beaocunege 2 yaca 40 myunayt. OHa HauMMHaeT KaTaTbCs Ha

Beaocurieae B 13:30. Bo ckoabpKO OHa 3aKOHUYUT?

Cen 2 saat 40 daqiqgs arzinda velosiped siirtir. O, 13:30-da velosiped stirmoaya

baslayir. Cen saat negads velosiped siirmayi bitiracokdir?
A) 6:10pm B) 10:35 am C) 12:15pm D) 6:10am

25) Solve: / Pemure : / Hall edin:
F+0+0+0 = 1%

F +0+9 :

D+ O-a:=3

Q+P+ 9z?

A) 16 B)18 C)22 D)13




